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T
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #1 | #6 | #1 ] #6 | #1 | #6 || Mean | Ns EW
9 | N | EW 6SW-2 200 6SW-1 100 100 3 NS80 3 -1
10 | E |Both 2HN2 110 3HN3 140 30 1 NS140 -1
11 | S |None 28S2 110 2SE-3 150 40 1 NS30 2 -3
12 | W | NS 6HNG6 1430 6HN6 1430 NS1020 9 -9
13 | N |Both 6NN-2 200 6NN-1 100 100 3 NS70 -7 5
14 | E |None 4HE4 420 4HW5 450 30 1 EW410 1
15| S | NS 4SW6 480 4SW6 480 EW530 2 -2
16 | W | EW 3NES 660 4SW5 650 10 EW650
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# H-VP 9.56 10.44
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1
¥l z9zmx [ NS | EW | 2mz2s | NS | EW | #2 | #8 | #2 | #8|#2|#8 || Mean | Ns EW
9| N|EW| esxw-2 | 500 4SW4 620 | 1120 15 NS80 9 12
10 | E |Both| 2HN2 110 3CE3 110 | 220 6 NS140 | -1 6
11| S |[None] 2sS2 110 258-1 50 | 160 4 NS30 2 2
12| W | NS 5HS6 680 6SXW-5 | 1100 420 9 NS1020| -8 2
13| N |Both| 6DS-3 300 6NN-1 100 200 5 NS70 | -9 5
14| E |None| 4sxn-3 500 4SXN-3 500 EW410 | -3 3
15| S | NS 4SW6 480 4SW6 480 EW530 | 2 2
16| W | EW 4SW6 680 4SW5 650 30 1 EW650 | -1
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* B IMP 25 15
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T
R tyz 23 | NS | EW | 2¥22% | NS | EW | #3 | #7 | #3 | #7 | #3 | #7 Mean NS EW
9 | N |EW| 6Sw-2 | 200 5HE5 650 | 850 13 NS80 | 3 12
10 | E |Both 2HN3 140 2HN2 110 30 1 NS140 1
11| S |None[  3HW3 140 3s8-2 100 40 1 NS30 | -5 4
12| W | NS S5HN7 710 6HN6 1430 720 12 NS1020 -7 -9
13 | N |Both|  3NN6 690 6CN-4 400 | 1090 14 NS70 | 12 10
14 | E |None 4HW5 450 4HW5 450 EW410 -1 1
15| S | Ns | 4swe 480 4SW6 480 EW530 | 2 2
16 | W | EW 4SW5 650 4SW5 650 EW650
B3t IMP| 28 (13 4 17
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2 HVP 15.23 4.77
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EW mum #E£FC0 EW 1#zx E#&z(R0)
B# | DL | & 2R M3 ES R A~ COP Datum
1
R £Hz2% | NS | EW | 2x4223% | NS | EW | #4 | #9 | #4 ] #9 | #a|#9 Mean NS EW
9 | N |EW 6SW-2 200 6SW-2 200 NS80 3 -3
10 | E |Both| 4SXs4 790 3HN4 170 620 12 NS140 | 12 -1
11| S |[None] 2SS-1 50 4HW-2 100 150 4 NS30 2 2
12 | W | NS 5HN6 680 4HN6 680 NS1020| -8 8
13 | N |Both 3NN5 660 6NN-1 100 | 760 13 NS70 11 5
14 | E |None 4HE5 450 5HW5 450 EW410 | -1 1
15| S | NS 4SW6 480 5SW6 480 EW530 | 2 2
16 | W | EW 4SW5 650 4SW5 650 EW650
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B# | DL | & Py k] M3 ES R A~ COP Datum
1
R txzu3x | NS | EW | 25225 | NS | EW | #5 | #10 || #5 [#10] #5 [#10 || Mean NS EW
9 N | EW 6SXW-2 500 6SW-2 200 300 7 NS80 9 -3
10 E |Both 3HN3 140 3CE3 110 250 6 NS140 6
11 S |None 2SE-3 150 2SS2 110 40 1 NS30 3 -2
12 | W | NS 6HNG6 1430 5HN6 680 750 13 NS1020 9 8
13 | N |Both 3NN5 660 6NN-1 100 760 13 NS70 11 5
14 | E |None 4SXN-3 500 6HE-1 50 550 11 EW410 -3 -10
15| S | NS 5SW6 480 6SW6 980 500 1 EW530 2 10
16 | W | EW 58SW5 650 4SW5 650 EW650
@3 IMP|51 | 11 31 14
1 L L3
# || 5 e & 10 g
* B IMP 51 11
&3 INP 51 11 .
# 3-VP 19.74 0.26




P - s e .
5| 112 £ § > AFEEFAHL 2RR] |5 :
i
NS me# #35(P0) 6 T bl 1 1 NS Ha# &3 (R0)
EW sc48s 2 358(R0) a e EW &Ry w3530
B# | DL | & #% MEZ cME ik REAA | COP Datum
1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #6 | #1 | #6 | #1 |#6|# || Mean | Ns EW
9| N|EW| 6swW-1 100 6SW-2 200 100 3 NS80 1 -3
10 | E |Both| 3HN3 140 2HN2 110 30 1 NS140 1
11| S |None| 2SE-3 150 2582 110 40 1 NS30 3 2
12| W | NS 6HN6 1430 6HN6 1430 NS1020| 9 -9
13 | N [Both| 6NN-1 100 6NN-2 200 | 100 3 NS70 | -5 7
14| E |None| 4Hws 450 4HE4 420 30 1 EW410 | 1
15| S | NS 4SW6 480 4SW6 480 EW530 | 2 2
16| W | EW 4SW5 650 3NE5 660 | 10 EW650
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Table 2
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B# | DL | & #% MEZ cME ik REAA | COP Datum
1
bl Hre% | NS | EW | 6%=223% | NS | EW | #8 | #2 |#8 [ #2| #8|#2 || Mean | Ns EW
9 N | EW 4SW4 620 6SXW-2 500 1120 15 NS80 -12 -9
10 E |Both 3CE3 110 2HN2 110 220 6 NS140 -6 1
11 S [None 2SS-1 50 2SS2 110 160 4 NS30 -2 -2
12| W | NS 6SXW-5 1100 5HS6 680 420 9 NS1020 2 8
13 | N [Both 6NN-1 100 6DS-3 300 200 5 NS70 -5 9
14 E |None 4SXN-3 500 4SXN-3 500 EW410 -3 3
15| S NS 4SW6 480 4SW6 480 EW530 2 -2
16 | W | EW 4SW5 650 4SW6 680 30 1 EW650 1
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1
i tyz 23 | NS | EW | 2¥22% | NS | EW | #7 | #3 | #7 | #3 | #7 | #3 Mean NS EW
9 N | EW 5HES 650 6SW-2 200 850 13 NS80 -12 -3
10 | E |[Both 2HN2 110 2HN3 140 30 1 NS140 -1
11 S |None 3SS-2 100 3HW3 140 40 1 NS30 -4 5
12 | W | NS 6HNG6 1430 5HN7 710 720 12 NS1020 9 7
13 | N |Both 6CN-4 400 3NN6 690 1090 14 NS70 -10 12
14 | E |None 4HW5 450 4HW5 450 EW410 -1 1
15| S | NS 4SW6 480 4SW6 480 EW530 2 -2
16 | W | EW 4SW5 650 4SW5 650 EW650
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* B IMP 13 28
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9 |Table 4

4 NS #&i # 28 (®0)
EW mum #E£(5C)

B# | DL | & #% MEZ cME ik REAA | COP Datum
1
R txzex | NS | EW | cxn22% | NS | EW | #9 | #4 |[#9 | #4 |no | #a Mean NS EW
9 | N | EW 6SW-2 200 6SW-2 200 NS80 3 -3
10 | E |Both 3HN4 170 4SXS4 790 620 12 NS140 1 -12
11 | S |None 4HW-2 100 25S-1 50 150 4 NS30 2 2
12| W | NS 4HN6 680 5HN6 680 NS1020 -8 8
13 | N |Both 6NN-1 100 3NN5 660 760 13 NS70 -5 -11
14 | E |None 5HWS 450 4HES 450 EW410 -1 1
15| S | NS 5SW6 480 4SW6 480 EW530 2 -2
16 | W | EW 4SW5 650 4SW5 650 EW650
B3 IMP| 4 |25 6 | -17
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* B IMP 4 25
&3P 4 25 ”
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1
¥l z9zmx | NS | EW | 25z2% | NS | EW | #10 | #5 |#10] #5 |#10] #5 || Mean | Ns EW
9 N | EW 6SW-2 200 6SXW-2 500 300 7 NS80 3 -9
10 E |Both 3CE3 110 3HN3 140 250 6 NS140 -6
11 S |None 2SS2 110 2SE-3 150 40 1 NS30 2 -3
12 | W | NS 5HN6 680 6HNG6 1430 750 13 NS1020 -8 -9
13 | N |Both 6NN-1 100 3NN5 660 760 13 NS70 -5 -1
14 | E |None 6HE-1 50 4SXN-3 500 550 11 EW410 10 3
15| S NS 6SW6 980 5SW6 480 500 11 EW530 -10 -2
16 | W | EW 4SW5 650 58W5 650 EW650
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£ 3 INP 11 51 o
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